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On the Fourier’s Series of the Discontinuous Waves as a
Rectangular Wave,

Mituzo MORI
Heizi YOTUYA

As an example of a continuous wave, Fourier’s series of a triangle wave with equal sides
is computed as far as ten terms, The series of some discontinuous waves, such as a
rectangular wave, a saw-teeth wave and a rectangular impulse wave, are computed. The highest
point does not approach the original curve even if number of terms is increased infinitely.
It is shown that the highest point can be calculated by the sine integral, and the highest
point for the rectaugular wave and the saw-teeth wave exceeds the original height by
17.9%
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